> A
A & 0l & AF 2 E A A
20219 = 20l& LB sE&H
SN sEED
HE: sEMEEY JNEE
Sl SEXGNLY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEEEn 122,650,803 102,128,834 20,521,969
= 3,751,134
s 77,305,000
= 23,594,669
£ 18,000,000
SEMEEZ JIttEs 121,989,423 102,073,574 19,915,849
= 3,751,134
s 77,305,000
< 22,933,289
£ 18,000,000
SEX SN 1,936,500 1,439,500 497,000
JIAS B3R 2 LA 1,936,500 1,439,500 497,000
403 XIS E X201 H 1,936,500 1,439,500 497,000
01 X SHHAN2E= 1,936,500 1,439,500 497,000
OJIAsE&EZ SLE(XH) 1,936,500, 000 1,936,500
SIIELAIE &S 7,190,500 10,058,000 A 2,867,500
< 3,190,500
£ 4,000,000
motst22d 2 4 7,190,500 10,058, 000 A 2,867,500
< 3,190,500
£ 4,000,000
403 A XM S 201 A 7,190,500 10,058, 000 A 2,867,500
< 3,190,500
£ 4,000,000
01 X HMA=ZLE L 7,190,500 10,058,000 A 2,867,500
Osti+=2 I 7,190,500,000 7,190,500
< 3,190,500
£ 4,000,000
sTdEstd F 101,161,750 78,885,650 22,276,100
= 1,480,000
s 77,305,000
< 8,376,750
£ 14,000,000
FUFE 022 S N (MRS (Z) 130,000 130,000 0
= 65,000
< 65,000
307 glz2tol & 130,000 130,000 0
= 65,000
< 65,000
02 It M AHE X 130,000 130,000 0
Os=sZEg4dslady 29 130,000,000 130,000
= 65,000
< 65,000
AIIES Y 0SS 1,767,500 1,907,700 A 140,200
201 Let2d] 72,950 86,000 A 13,050




2N sEERED
HE: sEMEEY JNEE
Sl sEMEHY Fyl (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 72,950 77,000 A 4,050
O30t ot & S2(M&EY)
22,950,000 22,950
OOtSetEIIAY 243 g2 50,000, 000 50,000
202 (44l 11,050 11,700 A 650
01 SLHOIYI 11,050 11,700 A 650
OHJIEE2 sj20ts AEI| IRFI(MHAEZ
) 11,050,000 11,050
306 £ 3 507,000 530,000 A 23,000
01 &3 507,000 530,000 A 23,000
OS2 s)| SAXNIHdH 2 (0l a2
507,000,000 507,000
307 glz2+ol & 42,500 50,000 AT,500
02 HAFHAANHEEE 42,500 50,000 A7,500
Ontets)| sotel sH(uaE2)
42,500,000 42,500
308 XXM SOIA 630,000 600,000 30,000
01 IXNHHBNEES 630,000 600,000 30,000
ontsets) s X (AMZ)
630,000, 000 630,000
403 MtXSHHSA=0l& 504,000 630,000 A 126,000
01 XM A2E X 504,000 630,000 A 126,000
Os/aits &AL 504,000, 000 504,000
ANz &2 st 3,483,900 2,348,500 1,135,400
s 3,087,000
< 396,900
308 XXM SOIA 3,483,900 2,348,500 1,135,400
s 3,087,000
< 396,900
01 AXHHILEES 3,483,900 2,348,500 1,135,400
OAzZd &2t 3,483,900, 000 3,483,900
s 3,087,000
< 396,900
SESHUNELSH(HEEXR) 6,352,000 5,716,000 636,000
s 5,775,000
< 577,000
403 X EHHSH20lA 6,352,000 5,716,000 636,000
s 5,775,000
< 577,000
01 HXSHMA=LE X 6,352,000 5,716,000 636,000
sESHUNELES(H4EXF)  6,352,000,000 6,352,000
s 5,775,000
< 577,000

N




2N sEE2E
HE: sEMEEY JNEE
Sl sEMEHY Fyl (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
SESAMNE L (LEXR) 12,536,000 27,367,000 A 14,831,000
Fag 11,864,000
& 672,000
403 XX SHHS K201 & 12,536,000 27,367,000 N 14,831,000
= 11,864,000
= 672,000
01 XIS AS2E X 12,536,000 27,367,000 A 14,831,000
Os=saXeEads (et 3) 12,536,000,000 12,536,000
Fag 11,864,000
=} 672,000
SESTAXNS A 6,504,000 1,835,000 4,669,000
g 5,912,000
& 592,000
403 XX SHHS K20 & 6,504,000 1,835,000 4,669,000
oy 5,912,000
& 592,000
01 XIS A2E X 6,504,000 1,835,000 4,669,000
OsEszdNELE 6,504,000,000 6,504,000
g 5,912,000
= 592,000
FATE WE(sHE) 5,457,000 1,659,000 3,798,000
g 4,957,000
=} 500,000
403 XX S M S K201 A 5,457,000 1,659,000 3,798,000
Fag 4,957,000
= 500,000
01 IS A2E X 5,457,000 1,659,000 3,798,000
OF AN MEHH N 5,457,000,000 5,457,000
Fag 4,957,000
& 500,000
HEs =8 AsHE Olsd=E 84 340,000 200,000 140,000
403 XX SHHS K20 & 340,000 200,000 140,000
01 XIS A2 X 340,000 200,000 140,000
OlEgs =Y HAsHZ=0H=UZE g4 (0 AE2
) 340,000,000 340,000
HF=EZHMA 15,066,350 16,447,250 A 1,380,900
= 1,066,350
£ 14,000,000
403 XX SHHMS K201 A 15,066,350 16,447,250 A 1,380,900
o 1,066,350
£ 14,000,000
01 XS A=2E X 15,066,350 16,447,250 A 1,380,900
OF=&3H A 14,942 ,850,000 14,942,850
&< 942,850
£ 14,000,000

w




N sEZ2E N
N SEMBHY JNHE
ool sEMEEY Iy EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Onls galel €248 (E20&0) 10,000,000 10,000
O&tHel dHZ8 (&) 10,000, 000 10,000
Ootay F=eX oEalA o S22 x(<
2IEo) 25,000, 000 25,000
ontssla LAY SUHIFAS (Z2AEN)
10,000, 000 10,000
Olldz =222 =¥ 32 FHIMS(E
2IEo) 68,500, 000 68,500
JzMaENEss 36,400,000 11,939,000 24,461,000
s 36,400,000
403 A X EHHS 20l A 36,400,000 11,939,000 24,461,000
s 36,400,000
01 X HHMA=ZLE L 36,400,000 11,939,000 24,461,000
OJdIzdaHE=sY 36,400, 000,000 36,400,000
as 36,400,000
dEsEsA 9,310,000 4,410,000 4,900,000
s 9,310,000
403 UtXSHHSA=0l& 9,310,000 4,410,000 4,900,000
s 9,310,000
01 HIXSHMA2E X 9,310,000 4,410,000 4,900,000
odasasea 9,310,000, 000 9,310,000
s 9,310,000
FdsEEa el =8 Mg 1,415,000 2,395,000 980,000
= 1,415,000
403 MtXISH S X201 & 1,415,000 2,395,000 980,000
= 1,415,000
01 AXSHMA=2EE 1,415,000 2,395,000 980,000
OCFEd=sEEaNZLEAY 1,415,000
= 1,415,000
SEE OIS SIAY 2,400,000 1,200,000 1,200,000
403 A X EHHS =0l A 2,400,000 1,200,000 1,200,000
01 X EHHMA=LE L 2,400,000 1,200,000 1,200,000
OsEd I SIIAtE 2,400,000, 000 2,400,000
sEMYsY 9,552,050 9,656,600 A 104,550
= 1,130,000
< 8,422,050
Nace s=8sga4ed 845 (%) 1,060,000 1,080,000 A 20,000
= 530,000
< 530,000
306 ¢ 2 1,060,000 1,080,000 A 20,000
= 530,000
< 530,000
01 &3 1,060,000 1,080,000 A 20,000




2N
X ZH -
L= B

el

- _ _ RE!
A E= . a2 (3H) - HEAY - B A= %Eﬁ HR=2
OSZ8=0 49 QZHII U Al 2o
400,000,000 400,000
= 200,000
< 200,000
ONIZAE HEDA 330,000,000 330,000
= 165,000
o= 165,000
OXNgH? RESE3is =4 290,000,000 290,000
= 145,000
== 145,000
OsES2E MY JIIEZAEHEA 40,000,000 40,000
= 20,000
& 20,000
ESESMAXNRTLHAIS (AZXE) 780,000 520,000 260,000
= 600,000
& 180,000
403 XX S M S X201 A 780,000 520,000 260,000
= 600,000
& 180,000
01 AIXISHM A28 X 780,000 520,000 260,000
OFY PINX sESSsSENMENF &4 780,000
= 600,000
= 180,000
SEXNY SSTMHSXNRA(2)(HSAY) 604,200 630,000 A 25,800
201 LBt A H| 42,000 45,000 A 3,000
01 AtR 22l ] 42,000 45,000 A 3,000
OsZ=As I MH 2= 42,000
202 04| 18,000 25,000 A7,000
01 2L Y| 8,000 5,000 3,000
OsZEAs IS HMH 2= 8,000
03 =220 bl 10,000 20,000 A 10,000
OsZ=As I HH 2= 10,000
306 EH2 480,000 480,000 0
0132 480,000 480,000 0
OsSEMs I8 JMH 2= 480,000
308 XX SHAMSOIA 64,200 80,000 A 15,800
01 IXHHNIMNEXS 64,200 80,000 A 15,800
Os=43 I8 JMH 2= 64,200
SENE SSMAS R (S )(HEAIY) 570,000 570,000 0
306 =132 570,000 570,000 0
01 &3 570,000 570,000 0
OSZ8S=28AANE Basy Hs U 570,000




2N
X ZH -
L= B

el

2 S 4
SN FE - EA(EA) - MRAL 0l &t o il HImEET
SsENE SR (AZXE)( 4,858,600 4,849,600 9,000
403 UHXISHHSA=0l& 4,858,600 4,849,600 9,000
01 XM= E L 4,858,600 4,849,600 9,000
O=sZESSECINE de 3,422,000
Osg=4AE HE 400,000
OsEssgedse 436,600
OLAR IIE2HEHA 600,000
SEAISHAY(Z)(HE 32,000 34,000 A 2,000
201 et 24,000 24,000 0
01 At 22l 24,000 24,000 0
OEMY 84 24,000
202 Odl 8,000 10,000 A 2,000
01 = LH 4 Hi 8,000 10,000 A 2,000
OSEMY F4 8,000
SEAMG LAY (Al A2 1,064,000 1,362,000 A 298,000
403 UHXSHHS =0l & 1,064,000 1,362,000 A 298,000
01 X SHMA2E X 1,064,000 1,362,000 A 298,000
O=4 DF0LE & 415,000
O3S HIMM & 649,000
SESSENY =54 583,250 485,000 98,250
306 ¢ 2 400,000 400,000 0
01 &3 400,000 400,000 0
OsEs=Sgdty NJAdH 29 400,000
307 glz2tol & 38,250 45,000 N6,750
02 It M AMHEE 38,250 45,000 N6,750
Oz 243tAre 38,250
403 A X EHHS =0l A 145,000 0 145,000
01 X EHHMA=E L 145,000 0 145,000
OAalZHE AL ALY 45,000
Os&Hiel & H3Ad 100,000
SCsad I A5 2,148,623 2,033,824 114,799
= 1,141,134
< 1,007,489
sENE SN (MEF2 d 170,000 230,000 A 60,000
403 X SHHE A0l & 170,000 230,000 A 60,000
01 XM A=2EE 170,000 230,000 260,000
OkL= HE52AE 22 170,000
MEotseld s X3 27,384 24,658 2,726
= 23,207




2N sEERED
HE: sEMEEY JNEE
Sl SuaM JE S CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 4177
308 XX G SO0l & 27,384 24,658 2,726
= 23,207
= 4177
01 AIKSHHENMNEXZ 27,384 24,658 2,726
OsZEMEs20s =25t 27,384,000 27,384
= 23,207
& 4 177
SEMEAE=ES 328,308 468,708 A 140,400
201 et 9| 15,300 18,000 A2,700
01 AP 2t 2] d| 15,300 18,000 A2,700
==EHESL0IE 2 SHsH(HAHEZ)
15,300,000 15,300
203 €2 F&d| 2,708 2,708 0
03 AIEH =X H 2 F XY 2,708 2,708 0
O=S=223d2 =8 (0aE2) 2,708,000 2,708
307 S12t0| & 295,000 430,000 A 135,000
02 DIZEB AAIE E X 295,000 430,000 A 135,000
OEsugs 43 XN 85,000,000 85,000
ODEDA HAEY 210,000,000 210,000
308 MXISHMSOIA 15,300 18,000 A2,700
01 HXHHIMNEXTZ 15,300 18,000 A2,700
O==HEsS2ANES ESHA N (0 A=)
15,300,000 15,300
SsE2AZF=N 4 A 1,142,181 974,758 167,423
= 882,927
= 259,254
308 XAXIGHHSO0|& 1,142,181 974,758 167,423
= 882,927
= 259,254
01 IXHHIMNEXZ 1,142,181 974,758 167,423
Os=dg8&s20ls AIRE X & 947,735,000 947,735
= 728,279
= 219,456
OsZEHMEgsdis 882t XY 57,680,000 57,680
2 49,443
= 8,237
OXEse? s=22 & 78,000,000 78,000
= 60,000
= 18,000
OsHEQEIHHIA MR 24,966,000 24,966
= 19,205
= 5,761
Os&Exs A 33,800,000 33,800

_7_




SN sEED
HE: sEMEEY JNEE
S Esad JIgE = (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 26,000
< 7,800
SESSHE A A RI2(HEALY) 57,500 57,500 0
308 AHAIEHHSOIA 57,500 57,500 0
01 HXNHHBHELS 57,500 57,500 0
O=sEZ3SHa At 22At XI& 57,500,000 57,500
ANty ddegsd FA2R 215 N2 360,000 200,000 160,000
= 180,000
< 180,000
307 glz2tol & 360,000 200,000 160,000
= 180,000
< 180,000
02 QIZtE M AMHEE 360,000 200,000 160,000
Osgu J1gy 28 AAZst XI& 360,000,000 360,000
= 180,000
< 180,000
sE=H KA 63,250 78,200 214,950
= 55,000
= 8,250
308 XtXIEHH SOl A 63,250 78,200 214,950
= 55,000
< 8,250
01 X HHILEES 63,250 78,200 A 14,950
Os&=H XN& 63,250,000 63,250
= 55,000
< 8,250
Hees(s=23) 609,000 0 609,000
SEE(s=88n) 609,000 0 609,000
NEMLIS(HFZMHH) == Ol Atats 386,750 0 386,750
705 =3 Acl34E 386,750 0 386,750
04 Al - SXISOHED| 30l =3 0| XHa+E 386,750 0 386,750
OXYMLIS(E=2ZME )02 Ol XH&k e
386,750,000 386,750
ANEgdig(Herst22Zdx24) o3 0olA & 222,250 0 222,250
705 G~ AclS34E 222,250 0 222,250
04 Al - SXGHLI S0 =30l K& 222,250 0 222,250
OXYiLIS(HSHESLAXTH)0 =3 0l K&
B 222,250,000 222,250
HHR2IZH (s=& ) 52,380 55,260 A 2,880
J=2Ztl(s=&8#n) 52,380 55,260 A 2,880
23t (sE=8 ) 52,380 55,260 A 2,880
201 Let24E] 24,480 25,920 A 1,440
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